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1. The main mode of heat transfer which takes place in liquid is  

Å’ek varj.k dh eq[; fo/kk ¼eksM½ tks nzo esa gksrh gS] &&&&& gSaA 

 (a)  Conduction /pkyu 

(b) Convection and radiation/ laogu vkSj fofdj.k 

(c) radiation only / dsoy fofdj.k 

(d)  Convection only / dsoy laogu 
-  

2. The hormone that promotes rapid internode or petiole elongation in deep water 

rice plants is :  
og geksZu tks xgjs ty okys pkoy ds ikS/kksa esa Rofjr varj uksM ;k o`ar ¼MaBy½ o`f) dks c<+kok nsrk gS% 

(a) Cytokinins/ lkbVksdkbfuu 

(b) Ausins / vkWfDlu 

(c) Ethylene /,fFkyhu 

 (d) Gibberellins / ftcjsfyUl 
-  

3. Why do the gases have two specific heats?  
-xSlksa esa nks fof”k’V Å’ek,a D;ksa gksrh gSa\ 

(a)  Gases can be heated at constant volume as well as at constant pressure for the 

same raise of temperature / rkieku esa leku o`f) ds fy, xSlksa dks fLFkj nkc ij Åf’er fd;k 

tk ldrk gSA 

(b) Gases can be liquefied by applying high pressure / mPp nkc iz;qDr djds xSlksa dks 

nzohd`r fd;k tk ldrk gSA  

(c) It has no definite shape of its own. / budk viuk dksbZ fuf”pr vkdkj ugha gSA 

(d) Gasses can co- exist in solids and liquids / xSlsa Bksl vkSj nzo inkFkksZ esa ,d lkFk mifLFkr 

gks ldrh gSaA 

4. At a certain time the pressure above the land near the sea is ‘PL’and the pressure 

above the sea is ‘PS’ if PL < PS, then select the CORRECT statement : - 

 ,d fuf”pr le; esa leqnz ds lehi dh Hkwfe ds Åij nkc ‘PL’gS vkSj leqnz ds Åij dk nkc ‘PS’gSA 

;fn  PL < PS,  rks lgh dFku dk p;u djsa %  

 

(a)  It causes the sea breeze  which moves from land to sea./ ;g leqnzh lehj dk dkj.k 

curk gS tks Hkwfe ls leqnz rd tkrh gSaA 

(b)It causes the sea breeze which moves from land to sea./ ;g leqnzh lehj dk dkj.k 

curk gS tks leqnz ls Hkwfe rd tkrh gSaA 

(c) It cause the land breeze which moves form sea to land./ ;g Fky lehj dk dkj.k curk 

gS tks leqnz ls Hkwfe rd tkrh gSA 

(d) It causes the land breeze which moves form land to sea./ ;g Fky lehj dk dkj.k 

curk gS tks Hkwfe ls leqnz rd tkrh gSA 
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5. Which gas is responsible for the bad smell of unreacted Gobar gas ?  
-     vfØ;k”khy xkscj xSl dh [kjkc xa/k ds fy, dkSu & lh mÙkjnk;h gSa\ 

(a) SO3 

(b) CH3SH  

(c) SO2 

(d) H2S 

6. How many alpha particles and beta particles are emitted during the radioactive 

decay – - 
jsfM;ks/kehZ {k; ds nkSjku fdrus vYQk d.k vkSj chVk d.k mRlftZr gksrs gSa&  

84PO218 → 82Pb214   →   83Bi214   →   84Po214 

(a)  2 alpha particles & 1 beta particle/ 2 vYQk d.k vkSj 1 chVk d.k   

(b) 1 alpha particle & 2 beta particles/ 1 vYQk d.k vkSj 2 chVk d.k 

(c) 2 alpha particles & 2 beta particles /2 vYQk d.k vkSj 2 chVk d.k 

(d)  0 alpha particles & 4 beta particle/ 0 vYQk d.k vkSj 4 chVk d.k 

7. A wire of length 2√𝜋 meter is bent into a circular ring and a current is sent 

through it. If its magnetic dipole moment produced is 10 J/T, what is the current sent 

through the wire ?  

2√𝜋 ehVj yackbZ ds ,d rkj dks ,d o`Ùkkdkj oy; esa eksM+ fn;k tkrk gS vkSj bld ek/;e ls ,d 

/kkjk Hksth tkrh gSA ;fn bldk pqacdh; f}/kzqoh; vk?kw.kZ 10J/T mRiUu gksrk gS] rks rkj ds ek/;e ls 

fdruh /kkjk dks Hkstk tkrk gSa\ 

(a)  6.8 A  

(b)  3.14 A 

(c) 10 A   

(d)  0.8 A  

8. The mean and variance of 5 observations are 4.80 and 6.16 respectively. If three 

of the observations are 2,3 and 6 what are the remaining observations? 
 5 izs{k.kksa ds ek/; vkSj fopyu Øe”k% 4-80 vkSj 6-16 gSA ;fn izs{k.kksa esa ls rhu 2] 3 vkSj 6 gSa] rks “ks’k 

izs{k.k D;k gSa\ 

 

(a)  4 and 7/ 4 vkSj 7 

(b) 5 and 7 /5 vkSj 7 

(c) 9 and 4 /9 vkSj 4 

(d) 5 and 8  /5 vkSj 8 
  

9. A ball rolling up an inclined plane covers 36 m during the first second, 32m 

during the second, 28m in the next and So on. How much distance will it travel 

during 7th second?  
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,d ur lery ij yq<+drh gqbZ xsan igys lsdaM ds nkSjku 36 ehVj] nwljs ds nkSjku 32 ehVj] vxys esa 

28 ehVj vkSj blh izdkj r; djrh gSaA 7osa lsadM ds nkSjku ;g fdruh nwjh r; djsxh \ 

(a) 4 m/4 ehVj 

(b)  8 m/8 ehVj 

(c) 16m /16 ehVj 

(d) 12m /12 ehVj  

10. The sum of an infinite number of a G.P. is 13 and the sum of their square is 507. 

Determine the common ratio of the G.P.?  
- ,d xq.kksÙkj Js.kh dh vuar la[;k dk ;ksx 13 gS vkSj muds oxksZ dk ;ksx 507 gSA xq.kksÙkj Js.kh ds 

lkoZ vuqikr dks Kkr dhft;s\  

(a) +1/2 

(b)  -1/2 

 (c) 2  

(d)  -2  

11. When a short bar magnet is arranged horizontally with north pole pointing 

towards the geographic north, the null point is found to be at a distance of 10cm 

from the centre of the magnet. If the horizontal component of the earth’s field at that 

point is 0.35 × 10−4 𝑇 then the magnetic dipole moment of the bar magnet is :  
- tc HkkSxksfyd mÙkj dh vksj ladsr djrs gq, mÙkjh /kzqo ds lkFk ,d NksVs n.M pqacd dks {kSfrt #i ls 

O;ofLFkr fd;k tkrk gS] rks pqacd ds dsanz ls 10 lseh dh nwjh ij “kwU;fo{ksi fLFkfr ik;h tkrh gSA ;fn 

ml fcanq ij i`Foh ds {ks= dk {kSfrt ?kVd  0.35 × 10−4 𝑇 gS rks n.M pqEcd dk pqEcdh; f}/kzqo 

vk?kw.kZ gSa%  

(a)  0.035 T  

(b)  0.7 J/T 

(c) 1.05 J/T 

(d)  0.35 J/T  

12. If the first term of an AP is an even prime number and the common difference is 

the least two digit number then the sum of the first 40 terms will be :  
- ;fn lekarj Js.kh dk igyk in ,d le; vHkkT; la[;k gS vkSj lkoZ varj vYire nks vadksa dh la[;k 

gS rks igys 40 vadks dk ;ksx gksxk %  

(a) 7900 

(b) 7920  

(c) 7880  

(d) 7860 

13. How many numbers of ATP and NADH2 molecules required for fixing one 

molecule of CO2 in Calvin cycle:  

dsfYou pØesa CO2 ds ,d v.kq dks fLFkj djus ds fy, ,Vhih vkSj NADH2 v.kqvksa dh fdruh 

la[;kvksa dh vko”;drk gksrh gS% 
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(a)  2 ATP, 2 NADPH2 /2 ,Vhih] 2 NADPH2 

(b) 1 ATP, 2 NADPH2/1 ,Vhih 2 NADPH2  

(c) 2 ATP,3 NADPH2/2 ,Vhih] 3NADPH2 

 (d) 3 ATP, 2 NADPH2/3 ,Vhih] 2 NADPH2 

14. The minimum terms in the G.P. 1, 2.25. 3.375 ….. required to have a sum greater 

than 20?  Note : log 1.5 = 0.1760 and log 11 = 1.041 

- xq.kksÙkj Js.kh  1,1.5 = 2.25. 3.375 …  esa U;wUkre inksa dh la[;k tks 20 ls vf/kd ;ksx gksus ds 

fy, vko”;d gSa\ 

(a) 5 

(b) 6 

(c) 8 

(d) 7 

15. The main components of a vacuum system are : 
 ,d fuokZr iz.kkyh ds eq[; ?kVd gSa 

(a) Vacuum pump, cooling system, pressure gauage and mass flow controllers  

(a)  fuokZr iai] iz”khryu iz.kkyh] nkc xst vkSj nzO;eku izokg fu;a=d  

 

(b) Vacuum pumps, cooling system pressure gauge and heating system / fuokZr iai] 
iz”khryu iz.kkyh] nkc xst vkSj Å’eu iz.kkyh 

(c) Vacuum pumps, mass flow controllers and heating system / fuokZr iai] nzO;eku izokg 
fu;a=d vkSj Å’eu iz.kkyh 

(d) Vacuum pumps, heating system and mass flow controllers ./ fuokZr iai] Å’eu iz.kkyh 

vkSj nzO;eku izokg fu;a=d 

16. The lens used in the pinhole camera is : 
 fiugksy dSejs esa iz;qDr ysal gS% 

(a) A convex lens of shorter focal length/ y?kqÙkj Qksdl nwjh dk mÙky ysal 

(b) A convex lens of large focal length/ nh?kZ Qksdl nwjh dk mÙky ysal 

(c) No lens is used in the pinhole camera / fiugksy dSejs esa fdlh Hkh ysal dk mi;ksx ugha 

fd;k tkrk gSaA 

(d)  A concave lens of shorter focal length / y?kqÙkj Qkssdl nwjh dk ,d vory ysal 

17. Insert 6 arithmetic means between 3 and 24 ?  
- 3 vkSj 24 ds chp 6 lekUrj ek/; lfEefyr djsa A  

(a)  6.5,10, 13.5, 17,20.5, 24 

(b) 5,811, 14,17,20 

(c) 6,9,12,15,18,21 

(d) 3,6.5,10,13.5,17,20.5 

18.  Which one of the following processes does not occur when secondary minerals 

undergo reactions to give out soil nutrients which makes the soil fertile?  
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 fuEufyf[kr esa ls dkSu & lh ,d izfØ;k rc ugha gksrh gS tc f}rh;d [kfut feV~Vh dks iks’kd nsus 

dh vfHkfØ;k ls xqtjrs gSa ftlls feV~Vh mitkÅ curh gS\ 

 

(a) Adsorption – desorption / vf/k”kks’k.k & fo”ks’k.k 

(b) Oxidation – Reduction/ vkWDlhdj.k -& vip;u 

(c) Addition – Elimination/ ifjo/kZu & mUewyu   

(d) Dissolution – precipitation ./ fo?kVu & vo{ksi.k 

19. Which of the following expressions is not equal to 1?  
- fuEufyf[kr esa ls dkSu lk O;atd] 1 ds cjkcj ugha gS\ 

(a) cos2(90−𝜃)   +  𝑐𝑜𝑠2𝜃 

(b) 𝑠𝑒𝑐2 𝜃  −  𝑐𝑜𝑡2 +  (90 −  𝜃) 

(c) 
(

𝑠𝑖𝑛27°

𝑐𝑜𝑠63°
 )
2

 + (
𝑐𝑜𝑠63°

𝑠𝑖𝑛27°
)
2

(
𝑠𝑖𝑛27°

𝑐𝑜𝑠63°
)
2

  +   (
𝑐𝑜𝑠63°

𝑠𝑖𝑛27°
)
2 

(d)  
𝑠𝑖𝑛3 𝜃 + 𝑐𝑜𝑠3𝜃

𝑠𝑖𝑛𝜃  +𝑐𝑜𝑠𝜃
 𝑠𝑖𝑛𝜃𝑐𝑜𝑠𝜃 

20. Which one of the following acids is vitamin C?  
-fuEufyf[kr esa ls dkSu & lk vEy foVkfeu lh gSa\ 

 

(a)  Ascorbic Acid /,sLdkWfcZd vEy 

(b) Aspartic Acid /,sLikfVZd vEy 

(c) Adipic Acid /,fMfid vEy 

(d) Glutamic Acid / XywVkWfed vEy 

21. Which one of the following formula can be used to determine the number of 

hybrid orbitals and the state of hybridization of the central atom in the ion ClO3 –X 

= number of hybrid orbital. SA = number of atoms/ groups surrounding the central 

atom. G= monovalent groups or double the central atom in the ground state. V = 

number of monovalent groups or double the double the number of divalent groups. A 

= magnitude of charge on the anion. C= magnitude of charge on the cation.  

 - fuEufyf[kr esa ls dkSu & lk lw= ladj d{kdksa dh la[;k vkSj CLO3
-
  vk;u esa dsanzh; ijek.kq ds 

ladj.k dh voLFkk dks fu/kkZfjr djus ds fy, mi;ksx fd;k tk ldrk gSA X =  ladj d{kkdksa dh la[;k 

SA = dsanzh; ijek.kq ds vklikl ijek.kqvksa@lewgksa dh la[;k  G= vk| voLFkk esa dsanzh; ijek.kq ds 

la;ksth bysDVªkWuksa dh la[;k  V= ,dla;kstd lewgksa dh la[;k ;k f}la;kstd lewgksa dh nksxquh la[;k  

a= _.kk;u ij vkos”k dk ifjek.k  c= /kuk;u ij vkos”k dk ifjek.k A  

(a)  X = SA + ½  (G – V + a)  

(b)  X = SA + ½  (G + V – a)  

(c) X = SA + ½  (G – V)  

(d) X = SA  + ½  (G -V-c)  

mailto:ijek.kqvksa@lewgksa
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22. what is the number of sigma and pi bonds formed in the compound 

C6H5COCH3?  
;kSfxd  esa fufeZr flXek vkSj ikbZ vkca/kksa dh la[;k fdruh gSa\ 

(a)  Sigma bonds = 17 Pi bonds =4 / flXek vkca/k  =17 ikbZ vkca/k =4 

(b)  Sigma bonds = 16 Pi bonds =4/ flXek vkca/k  =16 ikbZ vkca/k = 4 

(c) Sigma bonds = 12 Pi bonds = 4/ flXek vkca/k  =12 ikbZ vkca/k =4 

(d)  Sigma bonds = 14 Pi bonds =4 / flXek vkca/k  =14 ikbZ vkca/k =4 

23. Hydrocarbons can have  straight chain of carbon atoms, branched chain or closed 

ring of carbon atoms. Identify the number of 1°  𝑎𝑛𝑑 3° carbon atoms in the given 

compound. –  
gkbMªksdkcZu esa dkcZu ijek.kqvksa dh lh/kh Ja`[ktk] “kkf[kr Ja`[kyk ;k dkcZu ijek.kqvksa dk lao`r oy; gks 

ldrk gSA fn, x, ;kSfxd esa 1° vkSj 3° dkcZu ijek.kqvksa dh la[;k dks igpkusaA 

CH3 – CH2 – C(CH3)2 – CH – (CH3)2   

(a)𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 1° 𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 5°𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 3°𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 2/1° dkcZu 

ijek.kqvksa dh la[;k  =5 3°  dkcZu ijek.kqvksa dh la[;k =2 

(b) 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 1° 𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 5°𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 3°𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 1/1° dkcZu 

ijek.kqvksa dh la[;k  =5 3°  dkcZu ijek.kqvksa dh la[;k =1 

(c) 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 1° 𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 4 °𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 3°𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 2/1° dkcZu 

ijek.kqvksa dh la[;k  =4 3°  dkcZu ijek.kqvksa dh la[;k =2 

(d) 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 1° 𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 3 °𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 3°𝑐𝑎𝑟𝑏𝑜𝑛 𝑎𝑡𝑜𝑚𝑠 = 3/1° dkcZu 

ijek.kqvksa dh la[;k  =3 3°  dkcZu ijek.kqvksa dh la[;k =3 

24. A box lying on aninclined plane just starts sliding, what is the angle made by the 

inclined plane with the vertical, if the coefficient of friction is √3?  

- ,d vkur lery ij fLFkr ,d ckWDl vHkh & vHkh liZ.k izkjaHk djrk gS] ;fn ?k’kZ.k dk xq.kkad  √3 
gS] rks Å/okZ/kj ds lkFk vkur lery }kjk cuk;k x;k dks.k D;k gSa\ 

(a) 30° 
(b) 15° 
(c) 45° 
(d) 60° 
25. An ideal electric motor is used to lift 100 kg of a substance through a height of 

22m in 20 seconds. What is the current drawn from the source, if the motor is 

connected to 220V supply. [Take g – 10 m/s2] 
-,d vkn”kZ fo|qr eksVj dk mi;ksx 20 lsdaM esa 22 ehVj dh ÅapkbZ ls 100 fdyksxzke inkFkZ dks mBku 

ds fy, fd;k tkrk gSA ;fn eksVj 220V  vkiwfrZ ls la;ksftr gS] rks L=ksr ls vkgfjr /kkjk D;k gSa\ [g 

=10ehVj@ls2 ysa ] 

(a)  5 A  

(b)  2.5 A  
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(c) 10 A  

(d) 4.55 A  

26. Match the following with CORRECT combination :  

S.No  COLUMN – I COLUMN – II 

A  Potato  1.  Rhizome  

B Ginger  2.  Corm  

C Colocasia  3. Bulb  

D Onion  4. Tuber  

  

S.No LraHk & I   LraHk & II 

A vkyw  1  izdan  

B vnjd  2 ?kudUn  

C vjch  3  xkaB  

D I;kt  4  dan  

 

(a) A-4, B-3, C-2, D-1  

(b)  A- 4, B-1, C-2, D-3 

(c) A-2, B-4, C-2, D-1 

(d) A-3, B-4, C-1, D-2  

27. Assume that the genes T and R are linked. In a cross between the parents ttRR 

and TTrr the progeny obtained were of TtRr. When this individual was crossed with 

a complete recessive parent ttrr, the following result was obtained. TTrr- 420, ttRr- 

395, TtRr – 145 and ttrr – 120. The recombination frequency of these two loci is :  

- eku ysa oa”kk.kq ¼thu½ T rFkk R  lgyXu gSaA ekrk & firk ttRR vkSj TTrr ds chp ,d ladj ¼ØkWl½ 

esa izkIr larku TtRr FkhA tc bl O;fDr dks laiw.kZ ls vizcy ekrk & firk ¼jslsflc isjsaV½ ds lkFk ladj 

¼ØkWl½ fd;k x;k ] rks fuEufyf[kr ifj.kke izkIr gqvk FkkA Ttrr- 420, ttRr- 395, TtRr- 145  and 

ttrr- 120. bu nks yksdh dh iqula;kstu vko`fÙk gSa%  

(a) 26.2   (b)  24.2       (c) 23.2    (d)  25.2  

28. The skeleton of a dead elephant excavated from under a hill had 14C/12C  ration 

0.573 times the ratio in a living elephant. How long ago did the elephant get buried 

under the hill? Given : t1/2 of C-14 =5730 years. (log 0.573 = -0.2408) 2.303/0.693 = 

3.323)  -  

,d igkM+h ds uhps ls e`r gkFkh dk dadky fudyk ftldk  
14C /12C  vuqikr ,d thfor gkFkh esa 

vuikr dk 0-573 xquk FkkA gkFkh fdruh nsj igys igkM+h ds uhps nc x;k \\ fn;k gSa% C-14 dk t1/2 

=5730 years. (log 0.573 = -0.2408) 2.303/0.693 = 3.323)   
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(a)  8100 years/    8100 o’kZ    (b) 6185 years / 6185 o’kZ      (c)  4585 years /  4585 o’kZ   

(d)  3323 years. /3323 o’kZ 

29. if sec 4A = cosec (A- 20°) where 4A is an acute angle .find the value of A .  

- ;fn  sec 4A = cosec (A- 20°)  tgkWa 4A ,d U;wu dks.k gSA rks A dk eku Kkr djsaA  

(a)  22°    (b) 25°      (c)  45°   (d)  30° 
30. Mendel has taken a pure strain of pea plant with violet flower. How many 

different types of eggs produced by this plant with regard to purple colour flower ?  
- esaMy us cSaxuh Qwy okyh eVj ds ikS/ks dh ,d “kq) uLy yh gSaA cSaxuh jax ds Qwy ds laca/k esa bl 

ikS/ks }kjk fdrus fofHkUu izdkj ds vaM+s dk mRiknu fd;k tkrk gSa\ 

(a)  1    (b) 4     (c)  2   (d)  3 

31. When the cell of emf 1.5V is connected in the secondary circuit of the 

potentiometer the balancing length is found to be 225 cm. what will be the balancing 

length if the cell is replaced by a cell of emf 4.5 V.  

- tc bZ,e,Q 1-5 V ds ,d lsy dks foHkoekih ds f}rh;d ifjiFk esa la;ksftr fd;k tkrk gS] rks 

larqyu yackbZ 225 lseh ikbZ tkrh gSaA ;fn lsy dks bZ,e,Q 4-5 V ds ,d lsy }kjk izfrLFkkfir fd;k 

tkrk gS rks larqyu dh yackbZ D;k gksxh \ 

 

(a)  175 𝑐𝑚  /  175 lseh (b) 75cm   / 75 o’kZ       (c)  675 cm/ 675 lseh   (d)  625𝑐𝑚 /625 
lseh 

32. Identify the products X and Y formed during the course of the following 

reactions.  

Propan-2-ol (Conc. H2SO4, 443K ) → X  

X + HBr (ZnBr2) → Y  

- izksisu -2-vksy  (lkUnz  H2SO4, 443K ) → X  

X + HBr (ZnBr2) → Y  

 

(a)  X = propyne  Y= 2- Bromopropane / X = izksikbu Y= 2- czkseksizksisu 

(b)  X = propene  Y = 2 – Bromopropane / X = izksihu   Y = 2 – czkseksizksisu 

(c)  X = propane  Y = 1 bromopropane / X = izksisu   Y = 1 czkseksizksisu 

(d)  X= CH3 CH2 CH2HSO4  Y = CH2 = CH2/ X= CH3 CH2 CH2HSO4  Y = CH2 = 

CH2 

33. As a student of agriculture, which of the following part will you choose to raise a 

virus free plant ? – 
 d`f’k ds ,d Nk= ds #i esa fo’kk.kq eqDr ikS/ks dh o`f) djus esa vki fuEu esa ls fdl Hkkx dk p;u 

djuk ilan djsaxa\  

 

(a) Xylem /  t+kbye     (b)  Shoot apex/ vadqj.k “kh’kZ    (c)  phloem /  iks’kokg (d)  Pith/ fiFk 
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 34.  The mass number of element X is 31 amu. The third shell of the atom of this 

element has 5 electrons. Calculate the number of neutrons present in its nucleus.  
- rRo X dh nzO;eku la[;k 31 amu gSA bl rRo ds ijek.kq ds rhljs dks”k esa 5 bysDVªkWu gSaA blds 

ukfHkd esa mifLFkr U;wVªkWu dh la[;k dh x.kuk djsa A  

(a)  18    (b) 16       (c)  26  (d) 15 

 

35. Which one among the following is an insect that is commonly found in book 

shelves? – 
 fuEufyf[kr esa ls dkSu & lk ,d dhV gS tks vkerkSj ij iqLrd vyekfj;ksa esa ik;k tkrk gSa\ 

 

(a)  Catfish /   dSV eNyh     (b) silverfish / flYoj eNyh       (c) jellyfish /     tSyh eNyh    

(d) Devilfish / Msfoy eNyh 

36. What is the purpose of waggle dance in honey bees? 
 e/kq efD[k;ksa esa oSxy u`R; dk mÌs”; D;kgSa \ 

(a)  communication /  lapkj (b)  temperature regulation / rkieku fofu;eu        

(c) Reproduction /  iztuu   (d)  Recreation / euksjatu 
  

37. A prism of refractive index 1.5 is placed in a liquid of refractive index 1.3 

calculate the minimum deviation produced in the prism in that liquid. The angle of 

prism is 60° [Given sin-1 0.577=35.2°] 
- 1-5 viorZukad dk fizTe] 1-3 viorZukad ds nzo esa j[kk tkrk gSA ml nzo esa fizTe esa fufeZr U;wure 

fopyu dh x.kuk djsaA fizTe dkdks.k  60° gSA fn;k gS 𝑠𝑖𝑛−10.577 = 35.2° 
(a)  35.2°      (b)  23.8°                (𝑐)    10.4°               (𝑑) 54.8° 
38. Vitamin A enriched rice is released by – 
 foVkfeu , ls izpqj pkoy &&&&&& }kjk tkjh fd;k tkrk gSaA  

 

(a)  IRRI   (b)  IISR    (c)  ICAR    (d) IARI  

39. Sum up the seres 9 + 99 + 999 +………….. to n terms ?  

Js.kh 9 + 99+ 999 + ……… dk n inksa rd ;ksx djsa \ 

(a) 
1

9
 (10n+1  - 9n  +10) 

(𝑏)
1

9
  (10n+1 – 9n +10)  

(c) 
1

9
 (10n-1  + 9n  -10) 

(d)  
1

9
 (10n+1  + 9n + 10) 

40. If sin𝛼- cosec𝛼 = 𝑝 𝑎𝑛𝑑 𝑐𝑜𝑠𝛼 − 𝑠𝑒𝑐𝛼 = 𝑞. 𝑝4 𝑞2 +  𝑞4 + 3𝑝2 𝑞2 =? 

;fn  sin𝛼- cosec𝛼 = 𝑝 𝑎𝑛𝑑 𝑐𝑜𝑠𝛼 − 𝑠𝑒𝑐𝛼 = 𝑞. 𝑝4 𝑞2 +  𝑞4 + 3𝑝2 𝑞2 =? 

(a) 1     (b)   4     (c) 3   (d)  2  



SCI KRISHI  SANSTHAN                                                                                              INDIA'S N O.1 AGRICULTURE COACHING 

{Ag 1+Ag-2,3} IMPORTANT FOR PAT EXAM 2020    Your success is our mission…               Dir- SATENDRA SIR          

 Head Office    :  (1) VASNAVI DARBAR,NEAR BANK OF MAHARASTRA, Morar Road Gole ka Mandir, 0751-4723909               
                          :  (2) 12- MLB COLONY PADAV LASAKAR  GWALIOR (M. P.)  0751-4910670 
Call us             :   Mob : 8889593108, 8109093108, 8819959108                                                          Dir-Mr. SATENDRA SINGH 

MPPAT|ICAR-CUET(UG) 

41. Compute the mean deviation about the arithmetic mean for the following data : 

X : 1 3 5 7 9 f ; 5 8 9 2 1  

- fuEufyf[kr MsVk ds fy, lekarj ek/; ds fopyu dh x.kuk djsa %  :X: 1 3 5 7 9 f ; 5 8 9 2 1 

(a)  1.72     (b)     1.94      (c)   1.49      (d)    3.88  

42. The number of likes for a video in different gated communities are in A. P 5, 9, 

13, …… 185 and are noted down. Find the number of likes given by the 9th 

community from the end of the A. P.  
- fofHkUu }kfjr leqnk;ksa esa ,d ohfM;ksa ds fy, ilan dh la[;k lekarj Js.kh esa 5] 9] 13 ---- 185 vkSj 

mYysf[kr gSA lekarj Js.kh ds var ls 9 osa leqnk; }kjk nh xbZ ilanksa dh la[;k Kkr dhft,A  

(a)   150         (b)      153    (c) 151      (d)    152 

43. Which physical quantity has the unit ‘coulomb/volt ?  
fdl HkkSfrd jkf”k dh bdkbZ ^dwykWe@oksYV* gS\ 

(a) Capacitance of a capacitor/ ,d la/kkfj= dh /kkfjrk                

 (b)    Specific resistance / fof”k’V izfrjks/k 

(c) Mobility of electron /  bysDVªkWu dh xfr”khyrk        

 (d) conductance / pkydRo 

- 44. Many body fluids such as blood and urine have definite pH values and these 

resist changes in the pH on encountering small amounts of acid or base. Any change 

in their pH value indicates malfunctioning of the body which one of the following 

does NOT act as a Buffer pair ? - vusd “kjhj nzo tSls fd jDr vkSj ew= esa fuf”pr ih,p eku 

gksrs gSa vkSj ;s vEy ;k {kkj dh FkksM+h lh ek=k dk lkeuk djus ij ih,p esa ifjorZu dk fojks/k gSaA muds 

ih,p eku esa dksbZ Hkh ifjorZu “kjhj dh vlE;ddk;Zrk dks ladsr djrk gSA fuEufyf[kr esa ls dkSu ,d 

cQj ;qXe ds #i esa dk;Z ugha djrk gSa\  

(a) Acetic acid / Sodium acetate /,flfVd vEy @lksfM;e ,lhVsV        

(b) Boric acid / Sodium borate / cksfjd vEy @lksfM;e cksjsV         

(c) Carbonic acid /Sodium chloride / dkcksZfud vEy @lksfM;e DyksjkbM     

(d) Ammonium hydroxide /Ammonium chloride / veksfu;e gkbMªkWDlkbM@veksfu;e 

DyksjkbM 

45. In which of the following plant the petioles expand, become green and 

synthesize food. – 
 fuEufyf[kr esa ls fdl ikS/ks esa oàr foLrkj djrk gS] gjk gks tkrk gS vkSj Hkkstu dks la”ysf’kr djrk gS%  

 

(a)  Australian acacia/ vkWLVsªfy;kbZ ccwy     (b)   Amaranthus / pkSykbZ   

(c) Cactus /  ukxQuh (d)  Alstonia / lIri.kZNky 

46. Sickle cell anemia is a disorder that affects the hemoglobin of human blood. The 

blood of such patients has low oxygen content. Which one of the following is the 

cause of sickle cell anemia?  
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- fldy lsy ,uhfe;k ,d fodkj gS tks ekuo jDr ds gheksXyksfcu dks izHkkfor djrk gSA ,sls jksfx;ksa ds 

jDr esa vkWDlhtu dh ek=k de gksrh gSA fuEufyf[kr esa ls dkSu fldy lsy ,uhfe;kdk dkj.k gS\ 

 

(a)  Breaking the covalent bonds in the interchain bonding between the polypeptide 

chains / ikWyhisIVkbM Ja`[kykvksa ds chp varj J`a[kyk ca/ku esa lgla;kstd vkca/kksa dks foHkatu       

(b) Breaking the covalent bonds existing between the – CO and – NH groups in the a 

helix structure. / 𝛼 gsfyDl lajpuk esa  −𝐶𝑂  vkSj  -NH lewgksa ds chp fo|eku H- vkca/kksa dk 

foHkatu         

(c) Change of one amino acid by another amino acid in the sequence of amino acids 

of the primary structure of protein / izksVhu dh izkFkfed lajpuk ds vehuksa vEyksa ds vuqØe esa 

,d vU; vehuksa vEy }kjk ,d vehuksa vEy dk ifjorZu          

(d)  Coagulation of the protein present in blood / jDr esa mifLFkr izksVhu dk Ladnu 

47. Find the sum of first 5 terms of a G.P. Whose 1st term is 1 and the common ratio 

is 2/3?  
- ml xq.kksÙkj Js.kh ds igys 5 inksa dk ;ksx Kkr dhft, ftld igyk in 1 gS vkSj lkoZ vuqikr 2@3 

gSa\  

(a)  111/51        (b)     81/211            (c)  51/111      (d)   211/81 

48. Which of the following statements is FALSE about  pheretima posthumus? 
 fuEufyf[kr esa ls dkSu & lk dFku QsjsfVek iksLFkqel ds ckjs esa vlR; gSa\ 

(a)  Villi like internal fold in its intestine is called typhlosole / budh vkar esa foYyh leku 

vkarfjd rg gksrh gS ftls vk¡=oyu dgk tkrk gSA 

(b)  Male and females have different morphology / uj vkSj eknk dh vyx & vyx 

vkdkfjdh gksrh gSA          

(c) They breathe through moist skin / os ue Ropk ls lkal ysrs gSa  

(d)  They feed on decayed organic matter along with soil / os feV~Vh ds lkFk & lkFk {k; 

okys dkcZfud inkFkksZ dks [kkrs gSaA 

- 49. If 70, × 280, 𝑦, 1120  𝑎𝑟𝑒 𝑖𝑛 𝐺. 𝑃. 𝑡ℎ𝑒𝑛 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑥 𝑎𝑛𝑑 𝑦 𝑖𝑠 ∶  
- ;fn 70,× 280, 𝑦, 1120  xq.kksÙkj Js.kh esa gSa] rks X vkSj y dk eku gSa % 

(a) 140, 540          (b)    140,  550  

(c) 140, 560           (d)  120 , 360 

50. which one of the following device does NOT belong to first order lever ? 
fuEufyf[kr esa ls dkSu & lk  midj.k izFke izdkj ds mÙkksyd ls lacaf/kr ugha gSa\ 

(a)  Seesaw / fgaMksyk (b)  wheel and axle / ifg;k vkSj /kqjh        

(c) Scissors/  dSaph           (d) wheel barrow/ ,d ifgyk Bsyk 

52. Which one of the following is NOT an alkaloid obtained from solanaceae?  
fuEufyf[kr esa ls dkSu & lk ,d lksysuslh ls izkIr {kkjkHk ugha gSa\ 

(a)  Quinine/  fDouhu (b)  Atropine/ ,Vªksikbu        (C)  Nicotine / fudksVhu  (d)   

Hyoscyamine/ gk;kslk;ehu 
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53. Banana, mint, pistia and strawberry show stem modifications. Which one of the 

following statements is INCORRECT with reference to the stem modifications in 

these plants? dsyk] iqnhuk] fifLV;k vkSj LVªkWcsjh rus ds #ikarj.k dks n”kkZrs gSaA bu ikS/kksa esa rus ds 

:ikarj.k ds lanHkZ esa fuEufyf[kr esa ls dkSu lk ,d dFku xyr gSa\ 

(a)  when older parts die new plats arise in strawberry / tc iqjkus Hkkx e`r gks tkrs gSa rks 

LVªkWcsjh esa u, ikS/ks mRiUUk gksrs gSaA 

(b) In pistia, a lateral branch arises with short internodes with rosette type of leaves 

in each node with tuft of roots / fifLV;k esa] tM+ksa ds xqPNksa ds lkFk izR;sd xk¡B esa ifÙk;ksa ds i.kZx

 qPNk izdkj ds lkFk y?kq varjuksM okyh ikJo “kk[kk mRiUu gksrh gSaA        

(c) in mint a slender aerial branch arises from the base of the main axis, and after 

growing aerially for sometime arch downwards to touch the ground but it is not so in 

the case of Banana ./ iqnhuk esa ,d iryh vkdk”kh; “kk[kk eq[; v{k ds vk/kkj ls mRiUu gksrh gS] 

vkSj dqN le; ds fy, ok;q ekxZ esa c<+us ds ckn pki Hkwfe dks Li”kZ djus ds fy, uhps dh vksj >qdrh gS 

ysfdu dsys ds ekeys esa ,slk ugh gSa 

(d) in Banana, the lateral branches grow upwards aerially from the underground 

stem directly to give rise to leafy shoots / dsys esa iÙksnkj “kk[kkvksa dks c<+kus ds fy, ik”oZ 

“kk[kk,a lh/ks Hkwfexr rus ls ok;q ekxhZ; #i ls Åij dh vksj c<+rh gSaA  

 

 

 

 

54. Select the CORRECT statement : 
lgh dFku pqusa  

  

(a)  Resolving power of the microscope does not depend on the refractive index of 

the medium. / lw{en”khZ dh foHksnu {kerk ek/;e ds viorZukad ij fuHkZj ugha  djrh gSA 

(b)  The focal length of the objective is greater than the focal length of the eye piece 

in a compound microscope ./ vfHkn`”;d dh Qksdl nwjh ,d la;qDr lw{en”khZ esa usf=dk dh 

Qksdl nwjh ls vf/kd gksrh gSaA         

(c) Resolving power of the telescope does not depend on the wavelength of the light 

used. / nwjn”khZ dh foHksnu {kerk iz;qDr izdk”k dh rjax nS/;Z ij fuHkZj ugha djrh gSaA 

(d)  The focal length of the objective is less than the focal length of the eye piece in 

a compound microscope . / vfHkn`”;d dh Qksdl nwjh ,d la;qDr lw{en”khZ esa usf=dk dh Qksdl 

nwjh ls de gksrh gSaA 

55.  Select the physical quantity having the dimensional formula [𝑀1𝐿−3 𝑇0] - foeh; 
lw= [𝑀1 𝐿−3 𝑇0] okyh HkkSfrd jkf”k  dk p;u djsa  

 

(a)  Momentum/ laosx (b)  relative density /  vkisf{kd ?kuRo         
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(c)  Density/ ?kuRo     (d)  Viscosity /“;kurk 

56. The function of tonoplast is to : 
- rkuyod ¼VksuksIykLV½ dk dk;Z gSa %  

 

(a)  Facilitate the transport of materials against the concentration gradient / lkanz.k 

izo.krk ds fo:) inkFkksZa ds ifjogu dks lqlk/; cukuk     

(b)  Facilitate storage and excretion of materials / inkFkksZa ds laxzg.k vkSj mRltZu dks lqlk/; 

cukuk         

(c) Facilitate the transport of materials along the concentration gradient / lkanz.k izo.krk 

ds lkFk inkFkksZ ds ifjogu dks lqlk/; cukuk 

(d) Facilitate the storage of materials / inkFkksZa ds laxzg.k dks lqlk/; cukuk 

57. Select the correct graph between temperature and heat energy, when water at 0℃ 

is converted in to steam at 150 ℃ ; [T- temperature and E- heat energy]  

 rkieku vkSj Å’ek ÅtkZ ds chp lgh xzkQ dk p;u djsa tc 0℃  ij ty  150℃ ij Hkki esa 

ifjofrZr gks tkrk gS % [𝑇 −rkieku vkSj 𝐸 − Å’ek ÅtkZ ] 
(a)    2 

(b)    1  

(c)   4 

(d)   3  

58.  Choose the CORRECT match :  
lgh feyku pqusa % 

(a)  Green gland – Prawn / xzhu ySaM & >haxk        

(b)  Renal sac – Annelid / jhuy lsd & ,fufyM       

(c) Malpighi an tubules – Flatworms / eSYihf?k;u V;wC;wy          

(d) Nephridia – mollusk/ usfÝfM;k & eksyLd 
-  

59. A hydrocarbon gas X which us used for artificial ripening of fruit has an 

empirical formula mass equal to 14. If the ratio between molar mass and empirical 

formula mass is 2, find the molecular formula of X.  

- ,d gkbMªksdkcZu xSl X ftldk mi;ksx Qyksa ds d`f=e idus ds fy, fd;k tkrk gS] mldk ,d 

vkuqHkfod lw= nzO;eku 174 ds cjkcj gksrk gSaA ;fn eksyj nzO;eku vkSj vkuqHkfod lw= nzO;eku ds chp 

dk vuqikr 2 gS rks X dk vkkf.od lw= Kkr dhft,A  

(a) C2H4       (b)   C2 H6      (c)   C2H2     (d)   C3H6 

60. Carboxylic acids are the most acidic among the organic compounds. Arrange the 

following in the increasing order of their acid strengths : P = CCl3 COOH Q = CH3 

COOH R = HCOOH S= CH3 CH2 COOH  



SCI KRISHI  SANSTHAN                                                                                              INDIA'S N O.1 AGRICULTURE COACHING 

{Ag 1+Ag-2,3} IMPORTANT FOR PAT EXAM 2020    Your success is our mission…               Dir- SATENDRA SIR          

 Head Office    :  (1) VASNAVI DARBAR,NEAR BANK OF MAHARASTRA, Morar Road Gole ka Mandir, 0751-4723909               
                          :  (2) 12- MLB COLONY PADAV LASAKAR  GWALIOR (M. P.)  0751-4910670 
Call us             :   Mob : 8889593108, 8109093108, 8819959108                                                          Dir-Mr. SATENDRA SINGH 

MPPAT|ICAR-CUET(UG) 

- dkcZfud ;kSfxdksa esa dkcksZfDlfyd vEy lcls vf/kd vEyh; gksrs gSaA mudh vEyh; lkeF;Z ds c<+rs 

Øe esa fuEufyf[kr dks O;ofLFkr djsa P = CCl3 COOH Q = CH3 COOH R = HCOOH S= 

CH3 CH2 COOH  

(a) S< Q< R < P           (b)  Q < R < P  < S  

(c)  P < Q < R < S         (d)  S < P < Q < R  

61. what is the equivalent mass of a dibasic acid whose strength in molarity is 1/40 

and weight per litre is 3.15g ?  
- ,d f}{kkjdh vEy dk lerqY; nzO;eku D;k gS ftldh eksyjrk esa izcyrk 1@40 gS vkSj izfr yhVj 

Hkkj  3- 15 xzke gSa\  

(a) 106      (b)     53    (c)    63    (d)    126  

62. Spot the rodent pest : 
 da`rd tho igpkusa 

(a) Caterpillar/  bYyh      (b)  Rabbit/  [kjxks”k         (c)   Worms/ dhM+s (d) Rat / pwgk 
-  

63. The charge of a doubly ionized helium ion is :  
-  nksxquk vk;uhd`r ghfy;e vk;u dk vkos”k gS %  

(a)  1.6 × 10−19 𝐶   (b)   1.6 × 10−18 𝐶 

(c) 8 × 10−20 𝐶     (d)  3.2 × 10−19 𝐶 

64. What is the principle behind the ball bearings used in bicycles? - lkbfdy esa mi;ksx 

dh tkus okyh xksyh /kk:d ¼ckWy cs;fjax ½ ds ihNs D;k fl)kar gSa\  

(a)  Rolling friction is less than the sliding friction/ csYyu ?k’kZ.k lihZ ?k’kZ.k ls de gksrk gSaA 

(b)  Lubricants reduces friction / Lusgd ?k’kZ.k dks de djrs gSaA 

(c)  Kinetic friction is greater than the static friction / xfrt ?k’kZ.k LFkSfrd ?k’kZ.k ls vf/kd 

gksrk gSaA 

(d)  Sliding friction is greater than the static friction / lihZ ?k’kZ.k LFkSfrd ?k’kZ.k ls vf/kd 

gksrk gSaA 

65. When light passes through a glass prism mounted on a spectroscope it undergoes 

_____________  
tc izdk”k ,d o.kZØe n”khZ ij yxs “kh”ks ds fizTe ls gksdj xqtjrk gS] rks og && ls gksdj xqtjrk gSA 

(a)   Refraction and dispersion / viorZu vkSj ifj{ksi.k 

(b) Reflection and refraction / ijkorZu vkSj viorZu 

(C) polarization and dispersion //kzqo.k vkSj ifj{ksi.k 

(d)  refraction and scattering / viorZu vkSj izdh.kZu 
-  

66. How many fertilized eggs are present in the egg case of Periplaneta Americana ?  
- isjhIySusVk vesfjdkuk ds vaM vkoj.k esa fdrus fu’ksfpr vaMs mifLFkr gSa\  

(a)    4    (b)    8    (c)     16      (d)     24    
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67. Besides macronutrients, plants also require micronutrients for their healthy 

growth. Which one of the following is a symptom for micronutrient deficiency in 

plants ? –  
LFkwy iks’kd ds vykok] ikS/kksa dks vius LoLFk fodkl ds fy, lw{e iks’kd rRoksa dh Hkh vko”;drk gksrh 

gSaA fuEufyf[kr esa ls dkSu & lk ikS/kksa esa lw{e iks’kd rRoksa dh deh ds fy, ,d y{k.k gS\ 

 

(a)   Chlorosis/  gfjekghurk                      (b)  Symbiosis/ lgthfork   (c)   

Fluorosis /  ¶yksjksfll                      (d)   Thrombosis/ ?kukL=rk 

68. For a particular length, the period of oscillation of a simple pendulum is 2s. if the 

length of the pendulum is increased to three times its original length then , the new 

period of oscillation will be _______  

- ,d fo”ks’k yackbZ ds fy,] ljy yksyd dk nksyudky 2 s gSA ;fn yksyd dh yackbZ bldh ewy yackbZ 

ls rhu xquk rd c<+ tkrh gS rks] u;k nksyudky &&&&&&&& gksxkA  

(a)  √ 6 s               (b)    2√ 3 s    (c)  √ 3 /2 s      (d)   √ 3 s  

69. If a, b, c are the xth , yth and zth terms of a G.P. then evaluate (y – z)loga + (z – 

x)  logb + (x – y ) logc = ?  

- ;fn a, b, c ,d xq.kksÙkj Js.kh ds (y – z)loga + (z – x)  logb + (x – y ) logc = ?  

(a)  x + y + z                    (b)    0  

(c) a + b+ c                       (d)  1  

70. The upper part of a tree broken over by the wind makes an angle of 30° with the 

ground, and the distance from the root to the point where the top of the tree touches 

the ground  is 15m. the height of the tree was :  

- gok ls VwVs gq, isM+ dk Åijh fgLlk tehu ds lkFk 30° dk dks.k cukrk gS] vkSj tM+ ls ml fcanq rd 

dh nwjh tgka isM+ dk “kh’kZ tehu dks Nwrk gS] 15 ehVj gSA isM+ dh ÅapkbZ Fkh%  

(a) 5 √ 3 m            (b)   10 √ 3 m     (c)    15 √ 3 m    (d)   5 (3 +2 √3) m 

71. How many pairs of pi electrons exist in a molecule of styrene with molecular 

formula C8H8 ?  

- vkf.od lw= C8H8  okys LVkbjhu ds ,d v.kq esa fdrus ;qXe ikbZ bysDVªkWu mifLFkr gksrs gSa \ 

(a)   6 (b)   5   (c)  3    (d)  4  

72. What is this arrangement of stamens known as :  
     iqadslj dh bl O;oLFkk dks D;k dgk tkrk gSa % 

(a)   Monadelphous/  ,dla?kh              (b)  Diadelphous /    f}la?kh    

(c) Polyadelphous /  cgqla?kh               (d)   Epipetalous / nyyXu 
-  

73. Three friends buy stationery worth Rs.105 in total. The amount spent by them 

form a G. P. (common ration r > 1 ) and get converted to an A. P . if the amount 

spent by the first two is multiplied by 4 and amount spent by the third one by 3. Who 
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spends the highest and how much ? rhu nksLr dqy 105 #i, dh LVs”kujh [kjhnrs gSaA muds 

}kjk [kpZ dh xbZ jkf”k ,d xq.kksÙkj Js.kh  ¼lkoZ vuqikr r >1 ½ fufeZr djrh gS vkSj lekarj Js.kh esa 

ifjofrZr gks tkrh gSaA ;fn izFke nks [kpZ dh xbZ jkf”k dks 4 ls xq.kk fd;k tkrk gS vkSj rhljs }kjk [kpZ 

dh xbZ jkf”k dks 3 ls xq.kk fd;k tkrk gS] rks dkSu lcls vf/kd vkSj fdruk [kpZ djrk gSa\ 

 

(a)  Friend 1, Rs. 60  /  nksLr 2] 60 #i;s  

(b) Friend 1, Rs. 45/ nksLr 1] 45 #i;s    

(c)  Friend 3, Rs. 60/  nksLr 1] 30 #i;s                  

(d)  Friend 1, Rs. 30 / nksLRk 3] 60 #i;s 

74.  If the 22nd  term of an A. P. is 0. Then, 18 times of the 18th term will be _____ 

times of the 4th term.  
- ;fn lekarj Js.kh dk 22oka in 0 gSA rks 18osa in dk 18 xquk ] 4 os in dk &&&&& xquk gksxk  

(a)    3             (b)     5          (c)           2              (d)   4 

75. In TCA cycle] Acetyl Co A is accepted  by ___ acid .  

Vhlh, pØ esa ] ,sflVkby Co A __  vEy }kjk Lohd`r fd;k tkrk gSaA 

(a)  Oxaloacetic/ vkWDtsyks,flfVd                  (b)   Malic / eSfyd  

(c)  Citric/ lkbfVªd                               (d)  Fumaric /¶;wesfjd 

76. IUPAC system of monenclature which was first introuduced in the year 1947, is 

used to name organic compounds according to a set of rules. A hydrocarbon is 

incorrectly given the IUPAC  name , 3, 3-  Diethylbutane. What is the CORRECT 

name of the compound ? - ukedj.k dh vkbZ;wih,lh iz.kkyh] ftls igyh ckj o’kZ 1947 esa is”k 

fd;k x;k Fkk] dk mi;ksx fu;eksa ds ,d lewg ds vuqlkj dkcZfud ;kSfxdksa ds uke ds fy, fd;k tkrk 

gSaA ,d gkbMªksdkcZu dks xyr rjhds ls vkbZ;wih,lh uke 3] 3 & Mkb,fFkyC;wVsu fn;k x;k gSA ;kSfxdh 

dk lgh uke D;k gSa \ 

 

(a)  1 methyl – 1, 1- diethylpropane /1& feFkkby & 1] 1 & Mkb,fFkyizksisu      

(b)  3- Ethyl - 3- methyolepentane/ 3 & ,fFky & 3 & esfFkyisaVsu   

(c)  2, 2 Diethylbutane /2] 2 & Mkb,fFkyC;wVsu                    

(d)  2, 2, 2, - Triethylethane /2]2]2] & Vªkb,fFky,Fksu 

77.  Find the median of a distribution whose mean = 30 and mode = 32.  

- ,d forj.k dh ekf/;dk dks Kkr djsa ftldk ek/; = 30 vkSj cgqyd = 32 gSA  

(a)  30.44          (b)    30       (c)    30.66      (d)  30.22 

78. Which one of the following is CORRECT with  reference to the regions of the 

root tip ? – 
 tM+ ds fljs ds {ks=ksa ds lanHkZ esa fuEufyf[kr esa ls dkSu &lk lgha gSa\ 

(a)  Root cap, meristem, maturation. Elongation /ewy xksi  ¼#V dSi ½ ] foHkT;ksrd] 

ifjiDou] nh?khZdj.k 
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(b)  Root cap, meristem, elongation, maturation /ewy xksi ¼#V dSi½] foHkT;ksrd] nh?khZdj.k] 

ifjiDou    

(c)  Root cap, maturation, elongation, meristem /ewy xksi  ¼#V½ ] ifjiDou] nh?khZdj.k] 

foHkT;ksrd 

(d)  Root cap, elongation, meristem, maturation /ewy xksi ¼#V dSi½ nh?khZdj.k] foHkT;ksrd] 

ifjiDou 

  
 

79. A reactive hydrocarbon X, when treated with 1 mole of HCL/ anhydrous ZnCl2 

yielded another reactive compound “Y” when Y undergoes Wurtz reaction it form 

only one product Z. identify X and Z. ,d vfHkfØ;k”khy gkbMªksdkcZu X,  tc HCl / fuTkZy 

ZnCl2 ds 1 eksy ds lkFk mipkfjr fd;k tkrk gS] rks ,d vU; vfHkfØ;k”khy ;kSfxd “Y” izkIr gksrk 

gSA tc Y cqVZ~t vfHkfØ;k ls xqtjrk gS rks ;g dsoy ,d mRiknu Z fufeZr djrk gSA X vkSj Z dks 

igpkusa A 

(a)  X = Ethyne  Z = Ethane/ X = ,Fknu Z= ,Fksu       

(b)  X = Ethene Z = Butane / X = ,Fkhu Z = C;wVsu    

(c)  X= Propyne Z = propane / X = izksikbu Z = izksisu        

(d)  X = propene Z = propane / X = izksihu Z = izksisu 

80. Find the S. D of the following distribution : - 

 fuEufyf[kr forj.k dk ekud fopyu   (S.D) Kkr dhft,A  

(a)   0.328 Kgs/ 0-328 fdyksxzke           (b)   0.198 Kgs /0- 198 fdyksxzke   

(c)  0.218 Kgs / 0- 218 fdyksxzke         (d)   0.208 Kgs /0- 208 fdyksxzke 

81. Which of t-  

he following animals is most affected by extreme drought conditions ? fuEufyf[kr esa ls 

dkSu & lk tkuoj vR;f/kd lw[ks dh fLFkfr ls lcls vf/kd izHkkfor gksrk gSa\ 

(a)  Grasshopper/   fVÏh                 (b) Cockroach / frypÍk   

(c) Lac insect /  yk[k dk dhM+k           (d)  Earthworm / dsapqvk 
 

82. When ammonia is added to an aqueous solution of CuSO4, at first a light blue 

precipitate is formed which dissolves in excess of Ammonia added to give a deep 

blue coloured solution. Identify the type of bonds formed between NH3 and Cu2+ 

which is responsible for the formation of the deep blue coloured solution : -  

tc veksfu;k ] CuSO4 ds tyh; foy;u esa feyk;h tkrh gS] rks lcls igys ,d gYdk uhyk vo{ksi 

curk gS tks feyk;h xbZ veksfu;k ds vkf/kD; esa foys; gks tkrk gS] vkSj xgjs uhys jax dk foy;u nsrk 

gSA NH3 vkSj Cu2+
  ds chp cus vkca/kksa ds izdkj dks igpkusa tks xgjs uhys jax ds foy;u ds fuekZ.k 

ds fy, ftEesnkj gS %  

 

(a) Coordinate bonds/   milgla;ksth vkca/k                   
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 (b)   Hydrogen bonds/ gkbMªkstu vkca/k    

(c) Covalent bonds  /   lgla;ksth vkca/k                       

(d)  Electrovalent bonds / fo?kqr la;ksth vkca/k 

83. In the three pin plug for an Electric lron, the wire that leads to the ground pin of 

the plug should be connected: 
 fo|qr bL=h ds fy, rhu fiu Iyx esa] Iyx ds Hkwfe fiu dh vksj tkus okys rkj dks &&& la;ksftr 

fd;k tkuk pkfg,A 

(a)  To the metal body of the electric iron / fo|qr bL=h ds /kkrq vkoj.k ls     

(b)  In parallel with the heating element of the electric iron/ fo|qr bL=h ds rkiu ,yhesUV 

ds lkFk lekukarj esa   

(c)  In series with the heating elememt of the electric iron/ fo|qr bL=h ds rkiu ,yhesUV 

ds lkFk Js.kh esa 

(d)  To the LED provided in the electric iron / fo|qr bL=h esa nh xbZ ,ybZMh ls 
-  

84. Colloidal sols show a variety of properties and these properties are used to 

distinguish them form true solution. Under which characteristic property of colloidal 

sols does tyndall effect fall ? - dksykWbMh foy;u fofHkUu izdkj ds xq.k/keZ n”kkZrs gSa vkSj bu 

xq.k/keksZa dk mi;ksx mUgsa okLrfod foy;u ls i`Fkd djus ds fy, fd;k tkrk gSA dksykWbMh foy;u ds 

fdl fof”k’V xq.k/keZ ds rgr fV.My izHkko vkrk gSa \ 

 

(a)  Frictional property/    ?k’kZ.kkRed xq.k/keZ                   

 (b)      Electrical property / fo|qr xq.k/keZ   

(c) Mechanical property/     ;kaf=d xq.k/keZ                  

 (d)  Optical property / izdkf”kd xq.k/keZ 

85.  Specific heats of a gas in an adiabatic process and in an isothermal process are 

respectively ________ - 
 ,d #)ks’e izØe esa vkSj ,d lerkih izØe esa xSl dh fof”k’V Å’ek,a Øe”k% && gSaA  

 

(a)  Zero and Zero / “kwU; vkSj “kwU;                     

 (b)  infinite and infinite/ vuar vkSj vuar   

(c) infinite and Zero/ vuar vkSj “kwU;              

(d)  Zero and infinite/ “kwU; vkSj vuar 

86. Which one of the following is INCORRECT with reference to outbreeding 

devices in plants ? fuEufyf[kr esa ls dkSu & lk ikS/kksa esa cfg% iztuu fo/kk ds lanHkZ esa xyr gSa\ 

(a) maturation of stigma  and anther simultaneoulsly/ ofrZdkxz vkSj ijkxdks”k  dk ,d lkFk 

ifjiDou 

(b)  Self – incompatibility / Lo& vfu’ksP;rk   
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(c)  placement of anther and stamen in different positions / fofHkUu fLFkfr;ksa esa ijkxdks”k 

vkSj iaqdslj dk LFkkiu 

(d)  Production of unisexual flowers /,dfyaxh iq’iksa dk mRiknu 

87. What do you understand form the given floral formula ? fn, x, iq’Ik lq= ls vki D;k 

le>rs gSa \ 

K4 C4 S2+4 (2) 

(a) Calyx - - 4 gamosepalous, corolla -4 polypetalous stamen – tetradynammous, 

Ovary – epigyonus / dSfyDl & 4 xSekslsisyl] dksjksyk &4 ikWyhisVsyl LVSesu & VsVªksMk;uel] 

vksojh & ,fixkbul 

(b) Calyx - - 4 polysepalous, corolla -4 polypetalus stamen – didynamous, ovary – 

hypogynous ./ dSfyDl & 4 ikWyhlsiYl] dksjksyk &4 ikWyhisVsyl LVSesu & fMM;kuel, vksojh & 

gkbiksxkbul 

(c) Calyx – 4 polysepalous , corolla -4 gamopetalous stamen – tetradynamous,  

ovary- hypogynous / dSfyDl & 4 ikWyhlsiTl ] dksjksyk & 4 ikWyhisVsyl LVSesu & VsVªkMk;uel, 

vksojh & gkbiksxkbul 

(d) Calyx - - 4 polysepalous, corolla -4 gamopetalous stamen – tetradynamous, 

ovary- epigyonus / dSfyDl & 4 ikWyhlsiYl] dksjksyk & 4 xSeksaisVsyl LVSesu & VsVªkMk;uel] 

vksojh & ,fixkbul 
-  

 

 

 

  


